B0 Hlip b o = b Multiply by powers of ten (missing number)

Name: Date: Score:
7.858 x = 7858 10.218 % =102.18
5.972 x =59.72 4.59 x =459
4.504 x =45.04 5.563 x =556.3
5.181 x = 5181 4.7709 x = 4709
2.245 x =2245 10.39 x =103.9
2.984 x =29.84 5.798 x =579.8
10.699 x =106.99 8.452 x = 8452
7.351 x =735.1 9.348 x = 9348
2.316 x =23.16 1.774 x = 1774
10.653 x = 10653 5.517 x =551.7
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B Gl b o = lop Multiply by powers of ten (missing number)

Name: Date: Score:
7.858 x 1000 = 7858 10.218 x 10 = 102.18
5.972 x 10 = 59.72 4.59 x 10=45.9
4.504 x 10 = 45.04 5.563 x 100 = 556.3
5.181 x 1000 = 5181 4.709 x 1000 = 4709
2245 x 10 = 2245 10.39 x 10 = 103.9
2984 x 10 = 29.84 5.798 x 100 = 579.8
10.699 x 10 = 106.99 8.452 x 1000 = 8452
7.351 x 100 = 735.1 9.348 x 10 = 93.48
2316 x 10 = 23.16 1.774 x 1000 = 1774
10.653 x 1000 = 10653 5.517 x 100 = 551.7
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